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>=F>?>7<< < 6O?>?=OFL 74?D>EO < 

=46<74F<N ?> EFDG>FGD5 >=F>?>7<< 

��-4 

%?>E>55= 

?D<<5=OFL 

<5F>4O <4L<==>7> 

>5GG5=<O 4?O 

D5L5=<O 7444G 

<E>GEEF65==>7> 

��-1 ��-4 

�D<=<<45F GG4EF<5 6 >F5=>5, 6O5>D5 < ?D< 

=5>5E>4<<>EF< D47D45>F>5 <5F>4>6 

<4L<==>7> >5GG5=<O: 

- �=45F >?4EE<G5E><5 <5F>4O < 4?7>D<F<O 

<4L<==>7> >5GG5=<O: ?D54<>F<6=O5 - 

>5GG5=<5 E GG<F5?5<, 45E>D<?F<6=O5 - 
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<=F5??5>F4 >5GG5=<5 557 GG<F5?O; 

- '<55F ?D>6>4<FL ED46=<F5?L=O= 4=4?<7 < 

>EGM5EF6?OFL 6O5>D, =4EFD>=>G ?D< 

=5>5E>4<<>EF< D47D45>F>G <5F>4>6 < 

4?7>D<F<>6 4?O D5L5=<O 7444G <4L<==>7> 

>5GG5=<O 

��-5 

%?>E>55= 

<E?>?L7>64FL 
<=EFDG<5=F4?L=O5 

ED54EF64 4?O 

D5L5=<O 7444G 

<4L<==>7> 

>5GG5=<O 

��-1 ��-5 

5 �EGM5EF6?O5F >F5=>G < 6O5>D 

<=EFDG<5=F4?L=OE ED54EF6 4?O D5L5=<O 

?>EF46?5==>= 7444G<: 

- �=45F 6>7<>6=>EF< E>6D5<5==OE 
<=EFDG<5=F4?L=OE ED54EF6 < E<EF5< 

?D>7D4<<<D>64=<O 4?O D5L5=<O 7444G 

4=4?<74 44==OE < <4L<==>7> >5GG5=<O; 

-  '<55F ?D>6>4<FL ED46=<F5?L=O= 4=4?<7 < 

>EGM5EF6?OFL 6O5>D <=EFDG<5=F4?L=OE 

ED54EF6 4?O D5L5=<O 7444G <4L<==>7> 

>5GG5=<O 

��-2 ��-5 

$47D454FO645F <>45?< <4L<==>7> >5GG5=<O 

4?O D5L5=<O 7444G:  

- �=45F DG=>F<>=4?L=O5 6>7<>6=>EF< 

E>6D5<5==OE <=EFDG<5=F4?L=OE ED54EF6 < 

E<EF5< ?D>7D4<<<D>64=<O 6 >5?4EF< 
E>744=<O <>45?5= < <5F>4>6 <4L<==>7> 

>5GG5=<O; 

- �=45F ?D<=F<?O ?D>6545=<O <4L<==>7> 

M>E?5D<<5=F4, ?D>5?5<O ?5D5>5GG5=<O < 

=54>>5GG5=<O <>45?<, FD55>64=<O > 

>5GG4NM5=, F5EF>6>= < 64?<44F<>==>= 

6O5>D>4< 4?O D5L5=<O 7444G 4=4?<74 44==OE 

< <4L<==>7> >5GG5=<O; 

- '<55F ?D<<5=OFL E>6D5<5==O5 

<=EFDG<5=F4?L=O5 ED54EF64 < E<EF5<O 

?D>7D4<<<D>64=<O 4?O D47D45>F>< <>45?5= 
<4L<==>7> >5GG5=<O; 

- '<55F ??4=<D>64FL < 6O?>?=OFL <4L<==O5 

M>E?5D<<5=FO, >F5=<64FL F>G=>EFL < 

>4G5EF6> ?>EFD>5==OE <>45?5= 

��-3 ��-5 

5 %>7445F, ?>445D6<645F < <E?>?L7G5F 

E<EF5<O <E>GEEF65==>7> <=F5??5>F4, 

6>?NG4NM<5 D47D45>F4==O5 <>45?< < 

<5F>4O, E ?D<<5=5=<5< 6O5D4==OE 

<=EFDG<5=F>6 <4L<==>7> >5GG5=<O:  

- �=45F ?D<=F<?O ?>EFD>5=<O E<EF5< 

<E>GEEF65==>7> <=F5??5>F4, <5F>4O < 

?>4E>4O > ??4=<D>64=<N < D54?<74F<< 

?D>5>F>6 ?> E>744=<N E<EF5< 
<E>GEEF65==>7> <=F5??5>F4 E ?D<<5=5=<5< 

<4L<==>7> >5GG5=<O; 

- �=45F <5F>4>?>7<N ?D>6545=<O <4EE>6> 

?4D4??5?L=OE 6OG<E?5=<= 4?O GE>>D5=<O 

<4L<==>7> >5GG5=<O (E <E?>?L7>64=<5< 

GPU) 

- �=45F ?D<=F<?O D45>FO D4E?D545?5==OE 

>?4EF5D=OE E<EF5<: 

- '<55F D5L4FL 7444G< ?> 6O?>?=5=<N 

>>??5>F<6=>= ?D>5>F=>= 45OF5?L=>EF< 4?O 

E>744=<O, ?>445D6>< < <E?>?L7>64=<O 
E<EF5<O <E>GEEF65==>7> <=F5??5>F4 E 

?D<<5=5=<5< <4L<==>7> >5GG5=<O < 

<4EE>6> ?4D4??5?L=OE 6OG<E?5=<= 4?O 

GE>>D5=<O <4L<==>7> >5GG5=<O; 

- '<55F D45>F4FL E D4E?D545?5==>= 

>?4EF5D=>= E<EF5<>= ?D< E>744=<<, 

?>445D6>5 < <E?>?L7>64=<< E<EF5< 
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<E>GEEF65==>7> <=F5??5>F4 

��-6 

%?>E>55= E>74464FL 

< 

?>445D6<64FL 

E<EF5<O 
<E>GEEF65==>7> 

<=F5??5>F4 =4 

>E=>65 

=5=D>E5F56OE 

<>45?5= < 

<5F>4>6 

��-1 ��-6 

�EGM5EF6?O5F >F5=>G < 6O5>D <>45?5= 

<E>GEEF65==OE =5=D>==OE E5F5= < 

<=EFDG<5=F4?L=OE ED54EF6 4?O D5L5=<O 

?>EF46?5==>= 7444G<:  

- �=45F 547>6O5 4DE<F5>FGDO < <>45?< 

<E>GEEF65==OE =5=D>==OE E5F5=; 

- �=45F DG=>F<>=4?L=>EFL E>6D5<5==OE 

<=EFDG<5=F4?L=OE ED54EF6 < E<EF5< 

?D>7D4<<<D>64=<O 6 >5?4EF< E>744=<O 
<>45?5= <E>GEEF65==OE =5=D>==OE E5F5=; 

- '<55F ?D>6>4<FL >F5=>G < 6O5>D <>45?5= 

<E>GEEF65==OE =5=D>==OE E5F5= < 

<=EFDG<5=F4?L=OE ED54EF6 4?O D5L5=<O 

7444G< <4L<==>7> >5GG5=<O;  

- '<55F ?D<<5=OFL E>6D5<5==O5 

<=EFDG<5=F4?L=O5 ED54EF64 < E<EF5<O 

?D>7D4<<<D>64=<O 4?O D47D45>F>< < 

>5GG5=<O <>45?5= <E>GEEF65==OE 

=5=D>==OE E5F5=. 

��-7 

%?>E>55= 

>EGM5EF6?OFL E5>D 
< ?>47>F>6>G 

44==OE 4?O E<EF5< 

<E>GEEF65==>7> 

<=F5??5>F4 

��-1 ��-7 

�O?>?=O5F ?>47>F>6>G < D47<5F>G 

EFDG>FGD<D>64==OE < =5EFDG>FGD<D>64==OE 
44==OE 4?O <4L<==>7> >5GG5=<O:  

- �=45F <5F>4O D54G>F<< D47<5D=>EF< 

M?5<5=F>6 =45>D4 44==OE < <E 

?D5464D<F5?L=>= EF4F<EF<G5E>>= >5D45>F><,

 D47<5F>< EFDG>FGD<D>64==OE < 

=5EFDG>FGD<D>64==OE 44==OE; 

- �=45F <5F>4O ??4=<D>64=<O 

6OG<E?<F5?L=>7> M>E?5D<<5=F4, 

D>D<<D>64=<O >5GG4NM5= < >>=FD>?L=>= 

6O5>D>>; 

- '<55F 6OO6?OFL < <E>?NG4FL <7 <4EE<64 
44==OE >L<5>G=O5 44==O5 < 6O5D>EO; 

- '<55F 6O45?OFL 6E>4=O5 < 6OE>4=O5 

?5D5<5==O5 E F5?LN <E?>?L7>64=<O 

?D54<>F<6=OE <>45?5=; 

- '<55F >EGM5EF6?OFL D47<5F>G 

EFDG>FGD<D>64==OE < =5EFDG>FGD<D>64==OE 

44==OE; 

- '<55F <E?>?L7>64FL <=EFDG<5=FO, 

5<5?<>F5>< < F5E=>?>7<< Data Science 4?O 

?>47>F>6>< < D47<5F>< EFDG>FGD<D>64==OE < 

=5EFDG>FGD<D>64==OE 44==OE 4?O 

<4L<==>7> >5GG5=<O; 
- '<55F <E?>?L7>64FL <5F>4O < F5E=>?>7<< 

<4EE>6> ?4D4??5?L=>= >5D45>F>< < 4=4?<74 

44==OE. 

��-8 

%?>E>55= 

D47D454FO64FL 

>><?>=5=FO 

?D>7D4<<=OE < 

4??4D4F=OE ED54EF6 

D>5>F>F5E=<>< 

��-1 ��-8 

�=45F 547>6O5 F5E=<G5E><5 D5L5=<O 

4??4D4F=OE ED54EF6 D>5>F>F5E=<>< < <5F>4O 

<E ?D<<5=5=<O 6 E>45 D47D45>F><. 

��-2 ��-8 

'<55F ?D<<5=OFL 547>6O5 F5E=<G5E><5 

D5L5=<O 4??4D4F=OE ED54EF6 D>5>F>F5E=<>< 

6 E>45 D47D45>F>< 

��-3 ��-8 

�=45F 547>6O5 ?D>7D4<<=>-F5E=<G5E><5 

D5L5=<O ?D>7D4<<=>7> >55E?5G5=<O 

D>5>F>F5E=<>< < <5F>4O <E ?D<<5=5=<O 6 

E>45 D47D45>F>< 
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��-4 ��-8 

'<55F ?D<<5=OFL 547>6O5 ?D>7D4<<=>-

F5E=<G5E><5 D5L5=<O ?D>7D4<<=>7> 
>55E?5G5=<O ED54EF6 D>5>F>F5E=<>< 6 E>45 

D47D45>F><. 

��-5 ��-8 
�=45F <5F>4O D5L5=<O 7444G G?D46?5=<O 

ED54EF64<< D>5>F>F5E=<>< 6 E>45 D47D45>F>< 

��-6 ��-8 
'<55F D5L4FL 7444G< G?D46?5=<O ED54EF64<< 

D>5>F>F5E=<>< 6 E>45 D47D45>F>< 

 
5 ��%&� ��%'��$%&������ �&������ �&&�%&�&�� � %&$'�&'$� 

��$�����&��,��� �$��$���/ 

��� >F=>E<FEO > 547>6>= G4EF< 5?>>4 �3 �>EG44DEF65==4O <F>7>64O 4FF5EF4F<O. 

6 %���$����� ��%'��$%&������ �&������ �&&�%&�&�� % 
'�������� &$�������� � �� -�����&�� 

6.1. &D55>64=<O > 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< 

�E=>6=O<< FD55>64=<O > «�4M<F4 6O?GE>=>= >64?<D<>4F<>==>= D45>FO, 6>?NG4O 

?>47>F>6>G > ?D>F54GD5 74M<FO < ?D>F54GDG 74M<FO» O6?ONFEO: 

�<4 6O?GE>=>= >64?<D<>4F<>==>= D45>FO (��$): �4>4?46DE>4O D45>F4 

� 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< 4>?GE>45FEO >5GG4NM<=EO, =5 <<5NM<= 

4>445<<G5E>>= 744>?65==>EF< < 6 ?>?=>< >5N5<5 6O?>?=<6L<= GG55=O= ??4= <?< <=4<-

6<4G4?L=O= GG55=O= ??4= ?> E>>F65FEF6GNM5= >5D47>64F5?L=>= ?D>7D4<<5 6OEL57> >5-

D47>64=<O. 

� =4G4?G 74M<F 6O?GE>=OE >64?<D<>4F<>==OE D45>F =4 6O?GE>4NM5= >4D54D5 

4>?6=O <<5FLEO 6 =4?<G<< E?54GNM<5 4>>G<5=FO: 

- ?D<>47 > E>EF465 �>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<< (�-�); 

- ?D<>47 > 74>D5??5=<< F5< ��$; 

- D4E?>DO65=<5 (?D<>47) > 4>?GE>5 > 74M<F5 ��$; 

- 5?4=>< ?D>F>>>?>6; 

- ?>OE=<F5?L=O5 74?<E>< > ��$, GF65D645==O5 6 GEF4=>6?5==>< ?>DO4>5. 

6.1.1. �D>F54GD4 ?>47>F>6>< < ?D>6545=<O 74M<FO ��$ 

�>D<>>>=FD>?L. �4>>=G5==4O 6O?GE>=4O >64?<D<>4F<>==4O D45>F4 ?>465D745FEO 

=>D<>>>=FD>?N. 'E?5L=>5 ?D>E>645=<5 =>D<>>>=FD>?O O6?O5FEO >4=<< <7 GE?>6<= 4>-

?GE>4 >5GG4NM<EEO > 74M<F5 ��$ 6 �-�. 

%FG45=F =5 4>?GE>45FEO > 74M<F5 ��$, 6 E?54GNM<E E?GG4OE 

- 6O?GE>=4O >64?<D<>4F<>==4O D45>F4 =5 ?D>L?4 =>D<>>>=FD>?L; 

- ��$ =5 E>>F65FEF6G5F 6O44==><G 7444=<N; 

- 6 ��$ =5 D4E>DOF4 F5<4 4<??><=>7> ?D>5>F<D>64=<O. 

�D>D<?5=<5 6O?GE>=>= >64?<D<>4F<>==>= D45>FO 4>?6=> E>>F65FEF6>64FL FD55>-

64=<O<, ?D54NO6?O5<O< > D45>F4<, =4?D46?O5<O< 6 ?5G4FL. � E6O7< E MF<< EFG45=FG-

6O?GE>=<>G E E4<>7> =4G4?4 ?>47>F>6<F5?L=>7> MF4?4 < 74F5< 6 ?D>F5EE5 D45>FO =44 E>-

45D64=<5< DG>>?<E< =5>5E>4<<> E>5?N44FL FD55>64=<O 7>EG44DEF65==OE EF4=44DF>6 > 

?D54EF46?5=<N F5>EF>6>7>, F45?<G=>7>, D>D<G?L=>7> < <??NEFD4F<6=>7> <4F5D<4?4 (��%& 

2.105-95 «�5M<5 FD55>64=<O > F5>EF>6O< 4>>G<5=F4<»), 4 F4>65 E>EF46?5=<N E?<E>4 

?<F5D4FGD=OE <EF>G=<>>6 (��%& 7.1-2003. �<5?<>7D4D<G5E>4O 74?<EL. �<5?<>7D4D<G5E>>5 

>?<E4=<5. �5M<5 FD55>64=<O < ?D46<?4 E>EF46?5=<O). 

�D5464D<F5?L=4O 74M<F4. &5?LN ?D5464D<F5?L=>= 74M<FO O6?ONFEO >FD45>F>4 

F5E=<>< 74M<FO ��$, GF>G=5=<5 E>45D64=<O 4>>?444 < ?D>D45>F>4 =4<5>?55 E4D4>F5D=OE 

6>?D>E>6. 
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�4 ?D5474M<FG EFG45=F ?D54>EF46?O5F ?>OE=<F5?L=GN 74?<E>G, ?>?=>EFLN >D>D<-

?5==GN < >4>5D5==GN DG>>6>4<F5?5<, =>, 6>7<>6=>, =5 E>D5??U==GN < ?D575=F4F<N 4?O 

E6>57> 4>>?44 (>F 10 4> 20 E?4=4>6). 

�4M<F4. �4M<F4 ��$ ?D>6>4<FEO =4 >F>DOF>< 74E544=<< 7>EG44DEF65==>= M>74<5-

=4F<>==>= >><<EE<<. 

�4 74M<FG ��$ >F6>4<FEO 4> 30 <<=. �D>F54GD4 74M<FO 6>?NG45F 4>>?44 EFG45=F4 

(=5 5>?55 15 <<=), GF5=<5 >F7O64 DG>>6>4<F5?O ��$, 6>?D>EO G?5=>6 >><<EE<<, >F65FO 

EFG45=F4. �>65F 5OFL ?D54GE<>FD5=> 6OEFG??5=<5 DG>>6>4<F5?O ��$, 5E?< >= ?D<EGF-

EF6G5F =4 74E544=<< 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<<. 

7 ��$�'��, �&���'�/% %$��%&� (�&���'�/% ��&�$�����) ��/ 
�$�%������/ ��%'��$%&������ �&������ (�&������) �&&�%&�&�� 

�F5=>G=O5 ED54EF64 ?D54EF46?5=O 6 �D<?>65=<< 1. 

8 ��$�'��, ''����� ��&�$�&'$/, ����%������ ��/ 
�$�%������/ ��%'��$%&������ �&������ (�&������) �&&�%&�&�� 

1. �5=5D, �. �=EFDG<5=FO, 4?7>D<F<O < EFDG>FGDO 44==OE [-?5>FD>==O= D5EGDE]:

GG55=>5 ?>E>5<5 / �. �5=5D. 4 -?5>FD>=. 44=. 4 �>E>64: , 2016. 4 542 E. 4 $56<< 4>EFG-

?4: https://e.lanbook.com/book/100603. 4 �47?. E M>D4=4. 

2. �46?>6E>4O, &.�. �D>7D4<<<D>64=<5 =4 O7O>5 6OE>>>7> GD>6=O C# [-?5>FD>==O=

D5EGDE] : GG55=>5 ?>E>5<5 / &.�. �46?>6E>4O. 4 -?5>FD>=. 44=. 4 �>E>64: 2016. 4 245 E. 4 

$56<< 4>EFG?4: https://e.lanbook.com/book/100413. 4 �47?. E M>D4=4. 

3. %>E=<=, �. �. �<5>>5 G?D46?5=<5 6 ?D>5>F<D>64=<< 46F><4F<7<D>64==OE E<EF5<:

GG55=>5 ?>E>5<5 / �. �. %>E=<=, .. �. �4?L>6, �. �. �4>?456, �. �. %6OF>6. - '?LO=>6E>: 

'?�&', 2015. - 204 E. - $56<< 4>EFG?4: https://venec.ulstu.ru/lib/disk/2016/149.pdf. 4 �47?. E 

M>D4=4.

4. &>><4>>6 �.�. �6F><4F<7<D>64==>5 ?D>5>F<D>64=<5 <=D>D<4F<>==OE E<EF5<: 

GG55=>5 ?>E>5<5 / �. �. &>><4>>6. - '?LO=>6E>: '?�&', 2015. - 121 E. - $56<< 4>EFG?4: 

https://venec.ulstu.ru/lib/disk/2015/167.pdf. 4 �47?. E M>D4=4. 

5. &>><4>>6, �. �. �47O 44==OE. �>=F5?F<O 547 44==OE, D5?OF<>==4O <>45?L 44==OE,

O7O>< SQL < XML: GG55=>5 ?>E>5<5 / �. �. &>><4>>6. - '?LO=>6E>: '?�&', 2010. - 192 E - 

$56<< 4>EFG?4: https://venec.ulstu.ru/lib/disk/2011/Tokmakov.pdf. 4 �47?. E M>D4=4. 

6. �D5DL56, �.�. �E=>6O F5>D<< G?D46?5=<O < 46F><4F<><: GG55=>5 ?>E>5<5 / �. �.

�D5DL56, %. �. �<E5?56. - '?LO=>6E>: '?�&', 2014. - 315 E. - $56<< 4>EFG?4: 

https://venec.ulstu.ru/lib/disk/2015_1.pdf. 4 �47?. E M>D4=4. 

9 ��$�'��, ''����-��&���'�%���� ���%��'���/, 
����%������� ��/ �$�%������/ ��%'��$%&������ �&������ 
(�&������) �&&�%&�&�� 

9.1 �D4L5=<==<>>6 �.$., $>4<>=>64 &.�. �5F>4<G5E><5 G>474=<O ?> 6O?>?=5=<N 6O-

?GE>=>= D45>FO 54>4?46D4 < <47<EFD4 [-?5>FD>==O= D5EGDE]: <5F>4<G5E><5 G>474=<O, '?LO=.

7>E. F5E=. G=-F. - -?5>FD>=. F5>EF. 44==O5 ($4=? pdf). - �>EFG?5= 6 �=F5D=5F5:

https://virtual.ulstu.ru/extranet/workgroups/group/3943/files/

9.2 $>4<>=>6, �. �. �O?>?=5=<5 6O?GE>=>= >64?<D<>4F<>==>= D45>FO 54>4?46D4 : 

GG55=>-<5F>4<G5E>>5 ?>E>5<5 / �. �. $>4<>=>6. 4 '?LO=>6E>: '?�&', 2017. 4 74 E. 4 

ISBN 978-5-9795-1630-14 &5>EF: M?5>FD>==O=// �4=L: M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 

4 URL: https://e.lanbook.com/book/165012 4 $56<< 4>EFG?4: 4?O 46F>D<7. ?>?L7>64F5?5=. 

10 ��$�'��, ��$�$��&����/% $�%'$%��, ����%����/% ��/ 
�$�%������/ ��%'��$%&������ �&������ (�&������) �&&�%&�&�� 
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10.1 %?D46>G=O5 E<EF5<O < E>6D5<5==O5 ?D>D5EE<>=4?L=O5 547O 44==OE, > 
>>F>DO< >5GG4NM<<EO >55E?5G5= 4>EFG? (G44?5==O= 4>EFG?), 6 F>< G<E?5 6 E?GG45
?D<<5=5=<O M?5>FD>==>7> >5GG5=<O, 4<EF4=F<>==OE >5D47>64F5?L=OE F5E=>?>7<=

1. $545D4?L=O= ?>DF4? �4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5EGDE4< 

http://window.edu.ru/library  

2. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 http://elibrary.ru/defaultx.asp

3. $�� D>=4 4<EE5DF4F<= http://diss.rsl.ru/  

4. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 <744F5?LEF64 «�4=L» http://e.lanbook.com/

5. -?5>FD>==4O 5<5?<>F5>4 ?>?=>F5>EF>6OE GG55=OE < =4GG=OE <744=<= '?�&'

http://venec.ulstu.ru/lib/faculty.php  

10.2 $5EGDEO <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
=5>5E>4<<O5 4?O >E6>5=<O 4<EF<??<=O (<>4G?O) 

1. %?D46>G=4O E<EF5<4 �4D4=F

2. �474 ��%&O < %4=�<�O https://standartgost.ru/ 

3. �474 %���O. �>D<4F<6=>-F5E=<G5E>4O 4>>G<5=F4F<O  http://snipov.net/

4. -=F<>?>?54<O http://encyclopaedia.biga.ru

5. -?5>FD>==4O >5D47>64F5?L=4O E<EF5<4. [-?5>FD>==O= D5EGDE] URL: www.

eos.ulstu.ru

6. �F>DOF>5 >5D47>64=<5. �GDEO 654GM<E 6G7>6 $>EE<<. [-?5>FD>==O= D5EGDE]. URL:

http://openedu.ru

7. �=EF<FGF F5E=>?>7<= >F>DOF>7> >5D47>64=<O 'D$'. [-?5>FD>==O= D5EGDE] URL:

http://itoo.urfu.ru/ru/article/courses

8. -?5>FD>==O5 >GDEO. [-?5>FD>==O= D5EGDE] URL: https://stepik.org

11 ���%���� ��&�$���,��-&�%��'�%��� ���/ � ��$�'��, 
��$�$��&����/% &�%�������, �%���,�'��/% �$� �$�%������� 
��%'��$%&������ �&������ (�&������) �&&�%&�&��, ���.'�/ 
��$�'��, �$��$������� ���%��'���/ � ��$�$��&����/% 
%�$���'�/% %�%&��  

&45?<F4 2 

�4<<5=>64=<5 < >E=4M5==>EFL ?><5M5=<=, <E?>?L7G5<OE ?D< ?D>E>645=<< 

7>EG44DEF65==>= <F>7>6>= (<F>7>6>=) 4FF5EF4F<<

7 

?/? 

�4<<5=>64=<5 

E?5F<4?L=OE 

?><5M5=<= < 

?><5M5=<= 4?O 
E4<>EF>OF5?L=>= 

D45>FO 

�E=4M5==>EFL E?5F<4?L=OE 

?><5M5=<= < ?><5M5=<= 4?O 

E4<>EF>OF5?L=>= D45>FO 

�5D5G5=L ?<F5=7<>==>7> 

?D>7D4<<=>7> >55E?5G5=<O

(?>4?56<F 5657>4=><G
>5=>6?5=<N)

1 �><5M5=<O 4?O 
E4<>EF>OF5?L=>= 

D45>FO (G<F4?L=O= 

74? =4GG=>= 

5<5?<>F5>< 
G=<65DE<F5F4 / 

4G4<F>D<O 7311/3) 

$45>G<5 <5EF4, >5>DG4>64==O5 
�-�� E 6OE>4>< 6 <=F5D=5F (Wi-

Fi) 

�D>?D<5F4D=O5 ?<F5=7<<: 
Microsoft Windows; Microsoft Office, 

Microsoft Visual Studio 

C6>5>4=O5 < >F>DOFO5 ?<F5=7<<: 

LibreOffice <?< OpenOffice, Mozilla 
Firefox, Adobe Reader, �DE<64F>D 7-

zip, Py- Charm Edu, Python 

2 �G4<F>D<O 4?O 
?D>E>645=<O 

7>EG44DEF65==>=

<F>7>6>=

4FF5EF4F<< 7314/2

'G55=4O <555?L: EF>?O, EFG?LO 4?O 
>5GG4NM<EEO; >D5E?4 D45>G<5,

EF>?, EFG? 4?O ?D5?>4464F5?O,

4>E>4 =4?>?L=4O ?5D546<6=4O.

�><?LNF5D E 6OE>4>< 6 <=F5D=5F,
?D>5>F>D <=F5D4>F<6=O=, M>D4=, 

<4D>5D=4O 4>E>4. 

�D>?D<5F4D=O5 ?<F5=7<<: 
Microsoft Windows; Microsoft Office 

%6>5>4=O5 < >F>DOFO5 ?<F5=7<<: 

Linux Fedora, LibreOffice, Mozilla 

Firefox, Adobe Reader, �DE<64F>D 7-
zip 
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�<EF 4>?>?=5=<= < <7<5=5=<= 

> D45>G5= ?D>7D4<<5 4<EF<??<=O (<>4G?O)

� �� ���� ��%'�� %&������ �&������ �&&�%&�&��

'G55=O= 7>4: 202_/202_ 

�D>F>>>? 74E544=<O >4D54DO 7 ___ >F «___» ________ 202_ 7.

�D<=<<45<O5 <7<5=5=<O: =5F 

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________ 

$G>>6>4<F5?L ���� _________________ �5?O564 �.�. 
?<G=4O ?>4?<EL �.�. $4<<?<O 

«____» 467GEF4 2022 7. 


